Hasan Can hiiseyni siikaifezar diiyek
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1) The utle gikifezdar means ‘garden in bloom; blossom-laden’.

2) 'AliUI27v/54. 1 =) . The composcer is nol named.

Hlia7: 7-RA, 8 1.3 F8G F4,

Hibl: 1642 68¢,4: 57a,5: 1,3g,6: 2¢,8: 1, 8A,9: 24,78BG.

Mal 23d78Bapg, 2: 1-2pM 4: 5-6¢ff ga.

Mbl: 234, 78ap.2: 1-2gM,3: 1-2d,7-8ag.4: 1-2g M5 1-2dc(l J).7-8zgM6:
1-2/p. 44,7 1A 8 1 Bd.




2) Mcl: 2B4,2: 6G.5 45¢ed.
Mdl: 4¢ 2 6d,8¢.3:4d,4: 6d,5. 4cBd,5BY,7-B¢ B9, 7-18:

Mcé: 1dc.
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1y H3 b is scparated from H3 a not by ve Ich bul by ma'ah. The implication that a and b form a
composite subsection is confinned by the *Ali Ufki version, where the sepeat patiern is not aa+bb bul
ab+ab.

2y H2al: 20843 Se, 7/ 6:7-8B g

H2b 3 104

Hia2: 68A, 4 5.7d.5:13ct. 7T 3-4AGH
H3b3: 2484,4:57d,5: 1,3 c#.

There isno H3 ¢,

3) Sanal 2224, 1=J, Suggested tempo ) = 240,



